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1. Overall Description:

RAN1 thanks RAN2 for the LS on Rel-18 Multi-carrier enhancement for NR. RAN1 has discussed the following question. 
	From RAN1 perspective, is it possible that the two Tx chains are switched concurrently between two different band pairs and with overlapping switching period? Two examples are given below:

· Example #1: In the case of 3-band Tx switching, the switching is performed from 1T+1T on band A and B to 2T on band C.
· Example #2: In the case of 4-band Tx switching, the switching is performed from 1T+1T on band A and B to 1T+1T on band C and D.


RAN1 has achieved the following agreements.

	Agreement:
In the reply LS to RAN4, RAN1 confirms following three example scenarios related to RAN4 question are supported from RAN1 perspective.

· Example #1: In the case of 3-band Tx switching, the switching is performed from 1T+1T on band A and B to 2T on band C.

· Example #2: In the case of 4-band Tx switching, the switching is performed from 1T+1T on band A and B to 1T+1T on band C and D.

· Example #3: In the case of 3-band Tx switching, the switching is performed from 2T on band A to 1T+1T on band B and C.

Agreement:
In the reply LS to RAN4, the answer to RAN4 question is as follows:

· RAN1 confirms that it is possible that the two Tx chains are switched concurrently between two different band pairs for one Tx switching instance during a single switching gap for the following three examples.

· Example #1: In the case of 3-band Tx switching, the switching is performed from 1T+1T on band A and B to 2T on band C.

· Example #2: In the case of 4-band Tx switching, the switching is performed from 1T+1T on band A and B to 1T+1T on band C and D.

· Example #3: In the case of 3-band Tx switching, the switching is performed from 2T on band A to 1T+1T on band B and C.

· It is RAN1 understanding that the switching of two Tx chains between two different band pairs can be performed for one Tx switching instance during a single determined switching gap derived by switching periods for different band pairs reported by UE according to RAN4 LS [R1-2300029/R4-2220548]. 

· Whether two Tx chains are switched simultaneously or sequentially for one Tx switching instance during the single determined switching gap is up to RAN4.

· RAN1 is still discussing some details on example scenarios, including under which conditions one Tx switching instance is used for Tx switching of two Tx chains.


2. Actions:

To RAN WG2:
ACTION: 
RAN1 respectfully asks RAN4 to take the above information into account.
3. Date of Next RAN WG1 Meetings:

TSG RAN WG1 Meeting #113            22 May - 26 May, 2022                       Incheon, Korea
TSG RAN WG1 Meeting #114            21 August - 25 August, 2022              Toulouse, France
